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Name:  _____________________________ (please print)

Signature: __________________________

ECE 1100 -- Exam #2

April 8, 2003

Shattuck Section

DO NOT OPEN THIS EXAM UNTIL YOU ARE TOLD TO BEGIN

1.  This exam is open book, open notes.  No cell phones, or any communications devices of any kind can be used.

2.  Work neatly.  When asked, use complete sentences.  If the grader cannot read or understand what you have written, no credit will be given.  

3.  You will have 40 minutes to work on this exam.

4.  Be sure to sign the statement below before you turn in your exam.  If you fail to sign this statement, your exam will not be graded and you will earn no credit.

1.  ________________/30

2.  ________________/40

3.  ________________/30

Statement:  I understand the Academic Honesty Policy of the University of Houston.  I certify that I will not communicate with any other person concerning the material on the exam while I am taking this exam.

Signature:  ___________________________________   Date:  ______________

Room for extra work

1)  (30 Points)
a) Find the voltage vX in the circuit below.  

b) Find the power absorbed by the current source in the circuit below.
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2)  (40 Points)  
a) Find the voltage vX in the circuit below.  

b) Find the power delivered by the voltage source in the circuit below.
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Room for extra work

3)  (30 Points)
a) Find the current iX in the circuit below.  

b) Find the power delivered by the voltage source in the circuit below.
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1)  (30 Points)
a) Find the voltage vX in the circuit below.  

b) Find the power absorbed by the current source in the circuit below.
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2)  (40 Points)  
a) Find the voltage vX in the circuit below.  

b) Find the power delivered by the voltage source in the circuit below.
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 3)  (30 Points)
a) Find the current iX in the circuit below.  

b) Find the power delivered by the voltage source in the circuit below.
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